AOSC 201 - CSS 3426

Extra directions for Lab 6: The Skew-T Strikes Back
*Figure 6 in the manual is completely incorrect. Use Figure 6 from below.
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Figure 4
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Figure 5
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Figure 6
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Sounding Data for Question 15
You only need pressure, temperature, and dew point columns.

PRES HGHT TEMP DWPT RELH MIXR DRCT

hPa m C C % g/kg deg
laga.e 79
925.89 729
§50.8 1424
§22.8 1783 -8.9 =5.0 69 3.81 15
gll.e 181e =123 -8.3 59 2.53 11
778.8 2134 -4.3 Gt GE 2.44 5]
748.2 2438 -4.1 -18.3 78 2.35 2
719.5 2743 -9.8 -11.2 15 2.26 e
715.8 2792 -18.3 -11.4 a2 2.25 2
709.8 2954 -11.3 -12.4 G2 2.12 5]
663.8 3353 -14.1 *-i5.9 ae ¥.75 355
637.3 658 -16.3 -17.7 a9 1.58 1a
el2.e 39p2 -18.4 -28.0 a7 1.29 25
587.6 4267 -286.5 -22.3 86 1.18 1a
564.2 4572 -22.7 -24.86 85 8.93 2
562.8 4p82 -22.9 -24.8 a4 @.92 e
541.2 4877 -24.5 -27.1 79 a.i7 5
524.8 5112 -25.9 -295.8 i .67 355
S08.e 5458 -28.3 -31.2 76 a.57 348
456.3 e@96 -32.7 -36.@ f2 @.39 ]
418.8 e7le -36.9 -48.6 68 a.27 113
400.8 @28 -39.5 -43.7 G4 a.2e 17a
366.8 7628 -45.2 -49.3 63 @.12 215
363.8 75 -45.7 -49.8 63 a.11 218
349.5 925 -48.8 -53.3 54 8,88 238
341.8 Basy -49.5 -55.5 45 .88 231
383.3 8839 -57.8 -63.9 41 a.82 235
309.8 8910 -57.7 -64.7 48 a.82 238
289.0 9144. -59.7 -66.7 48 g.82 275
287 .8 9188 -68.1 -67.1 39 a.82 258
286.9 9289 -59.7 -66.7 48 a.e2 254
283.8 9276 -56.9 -64.89 36 a.e2 267
275.4 9449 -55.8 -64.9 28 a.82 3.
275.8 9458 -54.9 -64.9 28 a.82 3ee
278.8 575 -55.3 -66.3 24 a.82 38l
26l1.8 oro2, =hls ~e508 19 a.82 383
252.8 1eel8 -51.9 -65.9 17 g.82 3as
250.e 1leevye -51.% -65.9 17 a.82 385
238.9 1e363 -51.6 -67.3 14 a.82 385
237.8 1415 -51.5 -67.5 13 a.e2 3e5
225.8 1e752 -49.5 -65.5 14 a.83 388
217.5 1e973 -58.2 -68.1 18 a.82 318
217.e 1e988 -58.3 -68.3 1e a.82 389
215.8 11e49 -49.5 -67.5 la a.82 Jed
287.e 11278 -49.7 -68.2 1@ g.82 285
209.e 11528 -49.% -68.9 5 a.82 285
1%@.e 11854 -58.7 -69.7 S a.e2 294
189.1 11887 -58.8 -69.7 9 a.e2 295
182.8 12135 -49.7 -69.7 & a.82 289
172.2 12497 -49.8 -T8.4 T a.82 288
166.@ 12736 -48.9 -78.9 7 a.82 276
164.3 12882 -49.1 -78.9 G a.82 275
l64.8 12815 -48.9 -78.9 B g.82 275
155.8 13819 -48.5 -78.5 & a.e2 279
15a¢.e 13488 -58.5 -75.5 4 a.el 285



Question 2:
Cross out the word “environmental.”

Question 5:
Google is your friend.

Question 6:
Third row should be “-30 °C at 300 mb.”

Question 9:
Use the sounding in Figure 6 from above, not Figure 5.

Question 11:
This is a continuation of Question 9. Use Figure 6.

Question 15:

Ignore what’s written in the manual. Use the data provided above from the sounding above to plot the
temperature and dew point lines roughly every 50 mb (822, 748, 700, 637, 587, 500, 456, 400, 349.5,
300, 250, 200, 150 mb). Find the LCL, LFC, and EL



